Section A Conversations

Listening Comprehension

Directions: In this section, you will hear 10 short conversations and 2 long conversations. At the end

of each conversation, one or more questions will be asked about what was said. Both the conversation

and the questions will be spoken only once. After each question there will be a pause. During the

pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer.

1. A) At 4:15.
C) At 4:45.
2. A) He'll try hard to attend the conference.
C) He doesn’t like commitments.
3. A) He is working in a hospital.
C) He is going to graduate from college in July.
4. A) Rest a few hours.
C) Send an email.
5. A) At the hotel.
C) At the airport.
6. A) Go to the office.
C) Go on business.
7. A) Lisa is having a hard time in school.
C) Lisa is often very tired.
8. A) It ran into another car.
C) It was badly damaged.
9. A) She won't do favors for others.
C) She can’t return the book for the man.
10. A) To put his call through to the director.
C) To tell the director about the work he is doing.

B) At 4:00.

D) At 5:00.

B) He has to go somewhere else.

D) He has forgotten the conference call.

B) He is doing business with his brother now.
D) He is going to do business with his brother.
B) Go to the concert immediately.

D) Go to get some tickets for the concert.

B) At the railway station.

D) At the cinema.

B) Stay at home.

D) Attend a party.

B) Lisa is expecting a baby.

D) Lisa is very busy this term.

B) It fell into a river.

D) It left the road and landed in a field.

B) She’ll return the book on her way to work.
D) She works at the school library.

B) To arrange an appointment for him to see the director.

D) To go and see if the director can meet him right now.

Questions 11 to 14 are based on the conversation you have just heard.

11. A) Angry.
C) Excited.

12. A) She thinks it is a good idea.
C) She doesn’t want to go.

13. A) Chicago.
C) New York.

o

B) Frustrated.

D) Relieved.

B) She wants to read about art first.
D) She says she is too tired.

B) Los Angeles.

D) San Francisco.
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14. A) Study again. B) Walk in a park.

C) Go to a restaurant. D) Visit another museum.

Questions 15 to 18 are based on the conversation you have just heard.
15. A) Defendant and lawyer. B) Lawyer and witness.
C) Witness and judge. D) Witness and defendant.
16. A) A blue car ran into a white Ford.
B) A white Ford suddenly pulled out in front of him.
C) A white Ford and a blue car crashed head-on.
D) A blue car and a white Ford collided on a side road.
17. A) The driver of the blue car.
B) The driver of the white Ford.
C) Neither the driver of the blue car nor the driver of the white Ford.
D) Both the drivers of the blue car and the white Ford.
18. A) He was looking at his speedometer.
B) He was following the blue car.
C) He saw a traffic sign for speed limit by the side of the road.

D) He never goes faster than the speed limit on that road.

Section B Short Passages

Directions: In this section, you will hear 3 passages. At the end of each passage, you will hear some
questions. Both the passage and the questions will be spoken only once. After you hear a question,
you must choose the best answer from the four choices marked A), B), C) and D).

Questions 19 to 21 are based on the passage you have just heard.

19. A) Mars has different seasons. B) There’re no seasons on Mars.
C) There’s a lot of rain on Mars. D) Its summer is very hot at night.
20. A) 154. B) 178.
C) 183. D) 138.

21. A) The temperature there remains -200°F (-129C ) all the year round.
B) You'll feel extremely cold when it rains.
C) The weather there can change very quickly to extreme cold.

D) The average low temperature is -200°F on Mars.

Questions 22 to 24 are based on the passage you have just heard.

22. A) Because he spent all his money on a very expensive electric car.
B) Because he spent $15,000 on an electric car that can’t go fast.
C) Because the electric car he bought is too big in size.

D) Because his new car produces a lot of pollution.
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23. A) Because it does not pollute the air. B) Because it will soon become popular.

C) Because it can save a lot of power. D) Because it is more comfortable and convenient.
24. A) It can only run on special high ways. B) Its top speed is only 56 miles per hour.

C) It needs several days to be recharged. D) It runs out of battery after about 60 miles.

Questions 25 to 28 are based on the passage you have just heard.
25. A) It launched the Freedom from Smoking campaign.
B) It vigorously called upon smokers to quit smoking.
C) It made available a new website on the Internet.
D) It organized many supporting groups for those who want to quit smoking.
26. A) To help people quit smoking more effectively.
B) To make Freedom from Smoking campaign more popular.
C) To introduce some effective ways to quit smoking.
D) To help people fight all kinds of lung diseases.
27. A) Awareness of the dangers of smoking.
B) Steady resolve to quit.
C) Group supporting.
D) Professional consultation.
28. A) People who link to the website can ask and answer questions concerned.
B) People who link to the website can share experiences with each other.
C) The anti-smoking campaign can help individual smokers to design effective ways to quit.

D) All of the above.

Section C News Reports

Directions: In this section, you will hear 3 news reports. At the end of each news report, you will hear
2 or 3 questions. Both the news report and the questions will be spoken only once. After you hear a
question, you must choose the best answer from the four choices marked A), B), C) and D).

Questions 29 and 30 are based on the news report you have just heard.

29. A) Walmart. B) Yihaodian.
C) JD.com. D) Alibaba.

30. A) Northern and eastern regions. B) Western and southern regions.
C) Western and northern regions. D) Eastern and northern regions.

Questions 31 and 32 are based on the news report you have just heard.

31. A) A Belgian terror suspect. B) A Paris attack suspect.
C) A key player. D) An Algerian suspect.
32. A) In France. B) In Paris.
C) In the Brussels district of Forest. D) In a suspected militant warehouse.
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Questions 33 to 35 are based on the news report you have just heard.

33. A) The number of young women continues to decline in the United States.
B) Overall, US mothers gave birth to 3.98 million babies in 2015.
C) Births among young women hit record lows in the United States.

D) The numbers continue the trend of women giving birth later in life.

34. A) It fell by eight percent. B) It fell by 64 percent.
C) It fell by three percent. D) It fell by 27 percent.

35. A) When women were aged 20 to 24. B) When women were aged 25 to 29.
C) When women were in their 30s. D) When women were aged 40 to 49.

Reading Comprehension

Section A

Directions: /n this section, there is a passage with ten blanks. You are required to select one word
for each blank from a list of choices given in a word bank following the passage. Read the passage
through carefully before making your choices. Each choice in the blank is identified by a letter. Please
mark the corresponding letter for each item. You may not use any of the words in the blank more than
once.

Questions 36 to 45 are based on the following passage.

Gestures __ 36 signals, and these signals must come across clearly if we are to understand their
messages. They cannot afford to be __37 ; they must be sharp and difficult to confuse with other signals.
To do this they have to develop a “typical form” that shows comparatively little _ 38 . And they must be
performed with a “typical __ 39 ”, showing much the same speed, strength and scope on each occasion that
they are brought into action.

It is rather like the ringing of a telephone bell. The signal goes on sounding at fixed _ 40  at a fixed
volume and with a fixed sound, no matter how urgent the call. No one confuses a telephone bell with a front
door bell or an alarm clock. Its fixed form and its fixed intensity make it unmistakable.

The process is at work in human gestures. When an angry man shakes his fist, the chances are that the
speed, force and scope of each shake, as the fist jerks back and forth in mid-air are much the same on each
occasion that he employs this gesture. And there is a reasonable __41 that his speed, force and scope will
be similar to those of any other fist-shaker. If you were to perform a fist-shaking gesture in which you slowed
down the movement, _ 42 the force, and increased the distance traveled by the clenched (#2%1) fist, it is
doubtful if your signal would be understood. An onlooker might imagine you were exercising your arm, but it
is doubtful if he would read the message as a threat __ 43 .

Most of our gestures have grown into typical __44  of this kind. We all wave in much the same way.

This is not a conscious process. We simply _ 45 into the cultural norm.

4 - RETGEMEHREGEISES

| o |




| T —&— (T

A) display B) tune C) transmit D) transparent

E) depth F) intervals G) vague H) tone

I) presentations J) intensity K) likelihood L) demonstration
M) decreased N) pauses O) variation

Section B

Directions: In this section, you are going to read a passage with ten statements attached to it. Each
statement contains information given in one of the paragraphs. Identify the paragraph from which the
information is derived. You may choose a paragraph more than once. Each paragraph is marked with a
letter. Answer the questions by marking the corresponding letter.

Famous Teachers in History
Aristotle, an ancient Greek who knew a few things about education, said that “those who educate
children well are more to be honored than parents; for these only gave life, those the art of living well”.

Let’s recall a few people who, through education, had a transformative influence on people’s lives.

Anne Sullivan

Bl Many parents have probably felt at one time or another that one of their child’s teachers was a “miracle
worker”, a teacher who somehow gets results where other teachers have failed. In fact, this term has
become almost synonymous with her name: Anne Sullivan, the teacher of Helen Keller.

A mere 20 years old when first employed to school the deaf and blind Helen in 1887, Anne Sullivan
herself was blind for much of the first part of her life. Educated at the Perkins School for the Blind in
Boston, Sullivan had recovered part of her eyesight by the time she traveled to Alabama to begin her job
as Helen Keller’s governess. Undoubtedly, Sullivan’s own partial blindness gave her insight into the little
girl’s closed-off world. Sullivan remained Keller’s companion until her death in 1936. Helen Keller would
live a long life as a successful and inspiring writer, lecturer, and activist. None of this would have been

possible without Anne Sullivan, the woman we remember as the “miracle worker”.

Maria Montessori

IB] Through the centuries, there have been many different approaches to education in the classroom.
Some have emphasized discipline and rote learning; others have stressed a more open approach. One
of the most innovative and influential educational philosophies of the 20th century was developed and
promoted by a teacher whose name still lives on as a prominent type of school: Maria Montessori.

Born in Italy in 1870, Maria Montessori was exceptional from the beginning. As the only female
attendee of an all-boys school, she excelled at her studies. She became interested in education, and in
1907, opened a child care center in Rome that allowed her to put her educational theories into practice.
Foremost among her theories was the idea that children essentially teach themselves; the teacher’s
primary responsibility is to create the appropriate environment for learning and provide the spark that

allows children to develop naturally. What came to be called the Montessori Method was a great success
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in Italy and soon spread to the rest of the world. She had been nominated for the Nobel Peace Prize for

the third time when she passed away in 1952, at the age of 81.

William McGuffey

Another teacher, who, like Maria Montessori, was able to develop his theories about child education into
a workable practical system, was William Holmes McGuffey. His series of readers would have a profound
impact on education in America and on educational books in general.

William McGuffey was born in 1800. He was such an adept student, in fact, that he began to teach classes
himself at the age of 14. He paused his teaching career to attend college himself, and by age 26, he had
been appointed Professor of Languages at Miami University in Oxford, Ohio. His readers, more correctly
known as The Eclectic Readers, set an example for textbooks that we still follow today. They followed a
steady progression from the first reader through the fourth, beginning with teaching of the alphabet and
phonics alongside simple sentences, and progressing all of the way up to poems and stories. Vocabulary
was often taught in context rather than as lists of words, and questions after the stories, as well as read-

aloud, encouraged students to interact with what they read.

Emma Willard

There was a time in America when education, particularly university education, was considered the
province of men only. Young women were accorded a certain amount of education, but often their course
of study consisted more of home economics and manners rather than math, science, or philosophy. One
teacher took it upon herself to remedy this situation. Her name was Emma Hart Willard.

Bl Born in Connecticut in 1787, Emma Hart displayed quick intelligence at an early age. Her father
encouraged her formal schooling, and by the time she was 17, she was a teacher at the academy where
she had been a student. By age 19, she was running the academy. A move to Vermont occasioned a
job as a principal of another school, but unhappy with the curriculum, she struck out on her own.
Her own boarding school, where she taught young women courses in history and science, was a
success, and prompted her to seek out funds for a larger institution. Later, the town of Troy, New York
sponsored Willard’s proposal, and the Troy Female Seminary, the first higher education institution
for women in America, opened in 1821. The school was an immediate success, and upper class
families began to send their daughters to Troy, as well as to other private institutions that opened in its

wake.

Jaime Escalante

Teachers often aren’t recognized until late in life for their contributions to their students’ lives, if they
are recognized at all, but sometimes there are exceptions. Back in 1988, a book called The Best Teacher
in America was published, and a movie called Stand and Deliver was made. Both book and movie were
about one particular “best teacher”, a teacher who made an important contribution to his community:
Jaime Escalante.

Born and raised in Bolivia, Jaime Escalante taught school there until he decided to emigrate to America

in his mid-30s. Starting from scratch in California in 1963, Escalante learned English, earned a degree

6 - RFRIENRFTRAERSI43

| o |




| T —&— (T

in mathematics, and eventually became certified as a teacher. In the mid-70s, he accepted a job teaching
math at one of the poorest, most underperforming schools in Los Angeles, Garfield High. Escalante’s
approach to his classes was against the tradition: He urged higher math on his students and concentrated
on challenging them rather than passing them through. At first, his tough, drilling style met resistance
from the student body as well as the administration, but as time passed, his approach began to show
results. More and more students passed the College Board’s Calculus test. In 1988, Escalante was awarded
the Presidential Medal for Excellence in Education, the same year that the book and movie about his

accomplishments were released.

46. Fortunately, his achievements and contribution to education were recognized in 1988.

47. As a governess, she successfully turned Helen into an inspiring writer and accompanied her until her
death in 1936.

48. Her success in women’s boarding school prompted her establishment of the first higher education
institution for women in America.

49. Parents give children lives but good teachers transform them to civilized people.

50. Women were confined to the courses helpful for their manners and family affairs.

51. Approaches to education varied from rote learning to more open methods.

52. Teachers are to provide the proper environment for students to learn, leaving the world for children to
explore by themselves.

53. According to his theory of teaching, challenges could push students to move forward.

54. She became a principal at a very young age, making the curriculum of her own for the school.

55. Starting from the very beginning like alphabets, students could progress towards higher level of literary

writing.

Section C

Directions: There are 2 reading passages in this section. Each passage is followed by some questions
or unfinished statements. For each of them there are four choices marked A), B), C), and D). You
should decide on the best choice.

Passage One
Questions 56 to 60 are based on the following passage.

When a drug is one that should be used only under a doctor’s supervision, the law requires that it be
sold only by prescription (4bJ7). Special tests or instructions may be needed. Drugs for serious diseases may
require a prescription to insure safe and correct use.

A prescription is as personal as your name. It is designed for you alone. It is based on such factors as your
age, weight, general health, allergies (FUZ¥iE), and other factors, as well as your illness.

Never take a prescription drug meant for another person, even if you think you have the same illness.

Prescriptions aren’t supposed to be traded around the family or neighborhood. Each prescription is intended
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for an individual. It is a violation of federal law to sell a prescription drug without a prescription.

Doctors and dentists are licensed by each state to prescribe drugs for human use. Doctors for veterinary
(#E£ 1)) medicine are licensed to prescribe drugs for animal use.

A licensed medical doctor must pass an examination to practice medicine in a certain state. Before doing
this, he or she has probably completed at least two years of a premedical course, a four-year medical course,
two years of internship (52>JEEJHA) or residency in a hospital, and perhaps an extra year or more of training
in a specialty—altogether at least eight years of medical training, possibly nine.

Don't take prescriptions written for you during a previous illness without first checking with your doctor.
Your illness may not be the same as the previous one, even though you think it is. Also the drug may have lost

strength. Only a doctor is qualified to advise you about continuing to take a medicine.

56. Why does the law require that some drugs be used under a doctor’s prescription?
A) Because they are not safe.
B) Because they need further special tests.
C) Because they are meant to cure serious diseases.
D) Because the prescription can ensure the safe use of the drugs.
57. If you have got the same illness as someone else, you may
A) ask him or her to share the drug with you
B) buy the same medicine from a licensed drug store
C) take the medicine the doctor prescribed for you only
D) have the same medicine as you took for your previous disease
58. What should an American with sufficient medical training do in order to become a licensed doctor?
A) Pass an examination to practice medicine.
B) Have two years of internship in a hospital.
C) Take extra training in a specialty.
D) Be able to prescribe medicine both as a doctor and a dentist.
59. What kind of training is optional for a licensed doctor?
A) Two years of a premedical course.
B) Four years of medical course.
C) Two years of residency in a hospital.
D) One year or more of a specialty course.
60. Why shouldn’t you continue to take the same medicine for the same illness without your doctor’s
permission?
A) Because some medicines may have side effects.
B) Because there will be better medicines for your illness.
C) Because your illness may become more serious.

D) Because the effect of some medicines may be lost.
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Passage Two
Questions 61 to 65 are based on the following passage.

Technology, entrepreneurship (f/kfiE/7) and innovations are keywords that sum up the new era.

The Internet is not just a technologys; it is also about marketing. Companies which do not use the Net as
a marketing tool will lose their competitiveness.

The function of information technology in marketing is more than just receiving orders on the Net. The
Net offers a means of attracting clients by providing them information, something not possible in the past. It has
changed the way of service and is more efficient and more capable of providing comprehensive customer service.

The Net has revolutionized the way companies are run. Electronic mail, for instance, has improved
management efficiency tremendously. It can be the largest benefit the Net has brought. The traditional
telephone conversations and face-to-face contacts could be easily interrupted and were inefficient. Now you
need perhaps to spend just a couple of hours on emailing. Besides, it is now much easier to gather information
to help make the right decision.

The New Economy has also led to the mushrooming of IT or Internet-related firms as though the mere
setting up of such a company is a guarantee of high profits. This means businesses must have good human
resource management practices so as not to lose talented employees.

Technology is a tool, and a change in mindset (& HIE) is required to do away with a hierarchical
(%4%) system. This is related to entrepreneurship and innovations. What is needed are people who can think
independently. A flat organization reduces the layers of management. This is absolutely fine if every worker is
capable of thinking and working on his own. But there are many who feel insecure when they can no longer

rely on others. They will have to learn new mode of thinking.

61. According to the passage, if a company wants to win in the market, it should

A) carry out reform policies B) adopt advanced technology

C) compete with other enterprises D) use the Internet as its marketing tool
62. In marketing, the use of the Internet can help businesses to

A) identify their competitors B) improve their products

C) provide comprehensive service D) change their mindset
63. What is the largest benefit the Net has brought to the companies?

A) It has brought a lot of profits to them. B) It has greatly improved their management efficiency.

C) It has helped cut short their human resources. D) It has significantly changed their image.
64. From the passage we may say that

A) any Internet-related firm is sure to make high profits

B) the development of IT is one of the results of the New Economy

C) businesses will lose talented employees if they do not use the Internet

D) a hierarchical system is good for developing new technology
65. What is the author’s attitude towards the flat organization without a hierarchical system?

A) Indifferent. B) Negative.

C) Neutral. D) Positive.

TestOne + 9

| o |




| T —&— (T

Ve d Il Cloze

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked
A), B), C) and D). You should choose the one that best fits into the passage.

Wise buying is a positive way in which you can make your money go further. The _ 66 _ you go about

purchasing an article or a service can actually __ 67  your money or can add __ 68 _ the cost.
Take the __69  example of a hairdryer. If you are buying a hairdryer, you might _ 70 _ that you are

making the _ 71  buy if you choose one __72  look you like and which is also the cheapest __ 73  price.

But when you get it home you may find that it _ 74  twice as long as a more expensive __ 75 _ to dry your

hair. The cost of the electricity plus the cost of your time could well __76 _ your hairdryer the most expensive

one of all.

So what principles should you __77  when you go out shopping?

If you 78 your home, your car or any valuable 79 _ in excellent condition, you'll be saving money

in the long _ 80

Before you buy a new __81 , talk to someone who owns one. If you can, use it or borrow it to check
it suits your particular _ 82 . Before you buy an expensive _ 83 , or a service, do check the price and

84 ison offer. If possible, choose __85 three items or three estimates.

66. A) form B) fashion C) way D) method
67. A) save B) preserve C) raise D) retain

68. A) up B) to C)in D) on

69. A) easy B) single C) simple D) similar
70. A) convince B) accept C) examine D) think

71. A) proper B) best C) reasonable D) most

72. A)its B) which C) whose D) what

73. A) for B) with C)in D) on

74. A) spends B) takes C) lasts D) consumes
75. A) mode B) copy C) sample D) model
76. A) cause B) make C) leave D) bring

77. A) adopt B) lay C) stick D) adapt

78. A) reserve B) decorate C) store D) keep

79. A) products B) possession C) material D) ownership
80. A) run B) interval C) period D) time

81. A) appliance B) machinery C) utility D) facility
82. A) function B) purpose C) target D) task

83. A) component B) element C) item D) particle
84. A) what B) which C) that D) this

85. A) of B) in C) by D) from
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IV dA Translation

Section A

Directions: Translate the following sentences from English to Chinese.

1. (New College English { ZZHiINSFIEIE ) )

T1.

T2.

T3.

T4.

T5.

What he has been emphasizing is that the government’s priorities should go to local transport
improvement projects.

At that point many countries banned the import of cosmetics suspected of containing substances
that may cause mad cow diseases.

While I had to shoulder the responsibility of heavy household chores, Jack pursues his own
demanding schedule.

Bank clerk should resist various temptations, so as not to make seemingly minor mistakes, which
might later develop into major ones.

Many schools have tightened their requirements, and test scores for admission have been rising.

2. (Experiencing English { KZFABIBRIEIE ) )

T1.
T2.
T3.

T4.
T5.

The Premier said we should not pursue economic growth at the expense of the environment.

To drop out of the EU is to retreat from the front stage of world politics and to isolate itself on purpose.
Innovation in technologies will be one of the keys to supporting healthy and sustainable business
development.

In spite of trade frictions, the US cannot do without China or vice versa.

Analysts said that China will overtake Japan to be become the second-largest insurance market in

five years.

Section B

Directions: Translate the following sentences from Chinese to English.

1. (New College English { ZZHiIMNFIEE ) )

T1.
T2.
T3.
T4.
T5.

HHIBUN 2RI, DIBRORPTA 32 G R TRERS B XA 2K
BRARARATIRE R PR IE DX L, T NPRE AR AR 2 B iR B R

B RANGT SR ] LAREAR RS LE ST IR A XS o
B FARMEAER I BRI, A AT AR ASENBIT ORI PR 28 R IEH 185 .
FAHEANERIN IR TR T k. bR E AR S S T,

2. (Experiencing English { RKZFABIBRIEIE ) )

T1.

AR PIIEEARARLL, (HI A AR 225
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T2.
T3.
T4.
T5.
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WERFRAARIEKZE, iR B =2 T

—BE NSOMIRFFEP AR 1, OAAR o il T falis . A= fPRE IREAIR.
[, BEAEHLRN A 2A e s bt S NS, HE AW THIR S5 o

XU T AR TR, WAVERFHELED .

Section C

Directions: Translate the following passage from Chinese into English.

AR IKE RBER A SR ST 3 2t X U K A CRIE,  HA0 7 S A M PR AR o3
HIEREH, B HIREKER R, IS R XL K W R AR AR R SRR R, N
H g2 RS2 R HEIN WV IZE S, RAEBIIREINE, F2RARIKE RIEH R KRR ST,
Ui AT RIS U T — e 2 kST
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